KEMFREERIR KERES)

EWRFKE (TEAK) SF4E4A
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
11| 8:39 10.6 1.3 3.5
2| 8:00 9.0 1.1 2.0
3|8 8:00 10.3 1.1 1.5
41A| 8:39 11.3 1.3 1.5
5|:k] 8:51 11.8 41 68 9.4 <0.03 1.9 1.4 36.7
6|k 8:38 11.9 1.8 1.0
7|X| 8:38 1.7 1.1 1.0
8|&| 8:37 13.5 1.9 1.0
9[x| 8:00 1.7 1.8 1.0
10/18] 8:00 12.5 1.8 0.9
111 A 8:41 14.1 8.1 0.8
12) x| 8:39 14.5 39 65 9.2 <0.03 8.3 0.6 34.4
13| k]| 8:37 15.6 8.2 0.7
141 K| 8:39 15.9 1.9 0.6
15|&| 8:40 14.8 1.8 0.7
16| £ 8:00 14.3 8.0 1.0
1718 8:00 14.0 1.8 1.9
18|A| 8:41 14.2 1.6 0.6
19| k] 8:38 14.1 38 62 9.2 <0.03 1.1 0.7 34.2
20| k| 8:40 14.0 1.8 0.7
21 &<| 8:43 14.1 1.5 0.7
22(&| 8:38 14.2 1.6 0.7
231+ 8:00 14.7 1.9 1.0
24(a| 8:00 14.7 1.9 0.9
25| A 8:43 15.2 1.6 0.7
26| k| 8:40 16. 1 39 64 9.2 <0.03 8.1 1.0 34.4
27| 8:39 16.9 8.2 2.5
28| K| 8:41 16. 2 8.3 2.9
29|%&| 8:00 15.8 1.8 1.2
30({x| 8:00 14.5 8.2 4.5
1 — 13.7 39 65 9.3 <0.03 1.8 1.3 34.9
B = — 16.9 41 68 9.4 <0.03 8.3 4.5 36. 7
=K — 9.0 38 62 9.2 <0.03 1.1 0.6 34.2
ECR- S




KEMFREERIR KERES)

EWRFKE (TEAK) SF44E5A
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
118 8:00 14.7 1.6 1.0
2| A 8:40 14.5 39 10 9.2 <0.03 1.8 1.5 35.0
3|k 8:00 14.2 1.8 1.3
41xk| 8:00 13.9 1.5 1.1
5|k 8:00 14.5 1.6 1.1
6|« 8:37 16. 4 8.0 1.7
7[(xf 8:00 16.9 1.8 1.2
88| 8:00 17.3 1.8 1.3
91R 8:40 16.8 1.1 1.2
10| x| 8:37 15.8 38 " 9.1 <0.03 1.6 1.1 34.1
11]k]| 8:37 16.6 1.1 1.1
12| K| 8:43 17.4 1.7 1.2
13| €| 8:38 17.3 1.8 1.3
141 £] 8:00 17.4 8.0 1.4
15| A 8:00 17.1 1.9 1.9
16| A| 8:44 16. 3 1.6 1.0
17| k] 8:37 16. 4 38 67 9.1 <0.03 1.1 1.0 34.1
18] k| 8:40 16. 4 1.7 1.1
19| K| 8:42 16.9 8.0 1.1
20(&| 8:37 17.5 8.0 1.2
211 £] 8:00 17.5 8.0 1.2
22(8| 8:00 17.3 8.0 1.1
23| A 8:38 19.2 8.1 1.1
24| k| 8:37 18.0 38 66 9.1 <0.03 8.0 1.0 34.5
25k | 8:36 19.6 8.0 0.9
26| K| 8:43 20.2 1.9 0.9
271 8:39 20.0 8.0 0.7
28| 8:00 19.7 1.8 1.1
29| H 8:00 19.5 1.6 1.2
30 A| 8:40 20.1 1.8 0.8
3] 8:39 20.2 39 68 9.3 <0.03 8.3 0.8 35.2
1 — 17.3 38 68 9.2 <0.03 1.8 1.1 34. 6
B = — 20.2 39 11 9.3 <0.03 8.3 1.9 35.2
=K — 13.9 38 66 9.1 <0.03 1.5 0.7 34. 1
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SF4E6 A
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1]K[ 8:43 19.8 1.9 1.0
2| K[ 8:45 20.8 8.2 1.0
3[&| 8:40 21.0 8.1 1.0
4[] 8:00 21.5 8.5 1.1
5|H 8:00 21.4 8.2 1.1
6| A 8:39 20.9 8.0 1.0
71k 8:39 20.4 38 10 9.2 <0.03 8.4 0.8 34.5
8 | K[ 8:39 20.3 1.9 2.4
9| K| 8:42 20.5 8.4 0.8
10|&| 8:37 21.6 8.3 1.0
11| 8:00 21.8 8.4 1.1
12| 8] 8:00 21.4 8.6 0.8
131 A 8:39 21.5 1.9 1.9
14 x| 8:44 21.0 38 69 9.2 <0.03 8.3 0.9 34.5
15] k] 8:39 20. 3 8.2 0.8
16| A< 8:39 20.9 8.0 0.9
17(£(| 8:39 21.7 1.8 0.9
18| £]| 8:00 21.6 1.7 1.0
19|18 8:00 22.4 8.2 0.8
20 A| 8:40 23.9 8.1 0.7
21 x| 8:38 24.0 38 10 9.2 <0.03 8.4 0.5 34.2
22| k| 8:38 23.4 8.1 0.6
23 &<| 8:40 23.6 1.8 0.6
24(&| 8:37 23.8 1.5 0.8
251 £] 8:00 25.5 8.2 0.6
26(a| 8:00 25.5 8.0 0.8
21| A 8:49 26.0 8.1 0.7
28| k| 8:39 24.8 39 " 9.2 <0.03 1.6 1.1 35.1
29 k| 8:40 26. 5 8.1 0.6
0[A| 8:39 27.0 8.1 0.5
1 — 22.5 38 10 9.2 <0.03 8.1 0.9 34. 6
B = — 21.0 39 11 9.2 <0.03 8.6 2.4 35. 1
=K — 19.8 38 69 9.2 <0.03 1.5 34.2
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SF4ETA
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1]#| 8:38 26.3 1.6 0.8
2| 8:00 26.2 1.8 0.8
3|8 8:00 27.2 1.9 0.6
41R| 8:42 26.9 1.6 1.2
5[:k] 8:39 25.2 39 14 9.1 <0.03 1.4 1.9 34.9
6|k 8:41 26.3 1.9 0.7
7|X| 8:38 26.9 1.1 1.2
8|&| 8:43 26.3 1.9 0.8
9[x| 8:00 27.0 8.0 0.6
10/18] 8:00 26.5 1.7 0.8
111 A 8:43 27.0 1.1 1.4
12 x| 8:40 26. 6 43 80 8.9 <0.03 1.7 0.9 38.5
13) k] 8:51 27.3 1.9 1.1
141 K| 8:49 27.4 1.7 0.9
15(&| 8:43 26. 5 1.6 0.8
16| £ 8:00 26.7 1.6 0.9
1718 8:00 26. 6 1.8 0.6
18| A 8:00 27.0 1.8 0.6
19| k] 8:46 26.4 41 10 9.0 <0.03 1.5 0.8 37.3
20 k| 8:39 26.7 1.7 1.5
21{&<| 8:46 26. 8 1.1 2.0
22(&| 8:43 26.3 1.4 2.6
231+ 8:00 26.7 1.1 1.1
24(a| 8:00 26.5 1.7 1.0
25| A 8:41 26. 8 1.8 0.9
26| k| 8:39 27.0 39 64 9.0 <0.03 1.6 1.5 35.5
27(k| 8:38 27.3 1.6 1.1
28| K| 8:40 27.8 1.8 0.6
29|%&] 8:39 28.9 1.9 0.5
30({x| 8:00 28.3 1.5 0.8
31| B 8:00 29.2 1.8 0.4
1 — 26.9 41 12 9.0 <0.03 1.7 1.0 36. 6
B = — 29.2 43 80 9.1 <0.03 8.0 2.6 38.5
=K — 25.2 39 64 8.9 <0.03 1.4 0.4 34.9
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) S48 A
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1A 8:40 29.1 1.1 0.5
2 | k[ 8:39 29.8 41 10 9.0 <0.03 1.8 0.4 35.9
3|k 8:40 30.2 1.1 0.4
41 K| 8:39 29.3 1.5 0.6
5[&(| 8:40 28.6 1.6 0.5
6Lt]| 8:00 29.3 1.8 0.3
118 8:00 29.4 1.9 0.2
8| A 8:42 29.8 1.8 0.2
9 k] 8:39 29.7 39 JA 8.9 <0.03 1.8 0.2 34. 4
10| K| 8:43 29.9 1.7 0.3
11| K] 8:00 30. 1 1.1 0.2
12| &| 8:43 30.3 1.8 0.1
13| | 8:00 30.2 1.6 0.1
1418] 8:00 29.5 1.5 0.3
151 A 8:00 29.3 1.6 0.1
16] x| 8:00 30.0 1.9 0.1
17]17k] 8:00 29.5 1.9 0.6
18| K| 8:45 28.8 1.6 0.6
19|€| 8:38 28.9 1.1 0.6
20| 8:00 28.8 1.6 0.7
21| B 8:00 28.7 1.5 0.7
22| A| 8:49 29.0 1.4 0.6
23 x| 8:39 29.1 39 67 8.9 <0.03 1.1 0.4 35.6
24| k| 8:39 29.4 1.8 0.4
265(A&| 8:39 29.1 1.1 0.7
26(«| 8:38 29.0 1.7 0.6
271£] 8:00 28.8 1.8 0.9
28(A| 8:00 28.6 1.8 0.7
29| A 8:41 27.5 1.1 1.4
30| k| 8:40 27.8 38 64 8.9 <0.03 1.6 1.1 34.3
31{k| 8:40 28.2 1.1 0.9
1 — 29.2 39 68 8.9 <0.03 1.7 0.5 35. 1
B = — 30.3 41 11 9.0 <0.03 1.9 1.4 35.9
=K — 21.5 38 64 8.9 <0.03 1.4 0.1 34.3
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SF4EIA
& oK w3 ES % w7
Kk & B pHIE B &
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1T|A[ 8:38 28.3 1.8 0.9
2|&| 8:42 21.17 1.7 0.7
3[x| 8:00 28. 1 1.8 0.8
48| 8:00 28.2 1.6 0.9
5| A 8:43 28.4 1.6 0.9
6| x| 8:41 28.3 39 82 8.8 <0.03 1.7 0.9 35.3
7]k 8:44 27.5 1.6 2.6
8| A 8:41 27.6 1.6 1.6
9[&| 8:44 26.7 1.5 1.3
10| ] 8:00 26.7 1.6 1.3
1] 8 8:00 27.0 1.5 1.2
12| A| 8:47 27.4 1.4 1.2
13| k] 8:40 27.7 41 83 9.0 <0.03 1.6 1.1 31.2
14]k| 8:40 28. 1 1.6 0.9
15| K| 8:46 28.3 1.4 1.3
16|&| 8:41 27.8 1.5 0.9
17| 8:00 27.9 1.6 0.6
18| 8] 8:00 27.6 1.6 0.7
191 A 8:00 24.6 1.0 1.1
20 k| 8:45 25.0 42 92 9.1 <0.03 1.4 12 37.4
21Kk | 8:41 23.8 1.5 6.6
22| K| 8:43 23.5 1.5 2.4
23|%&| 8:00 23.9 1.5 1.6
24| 8:00 23.5 1.4 2.2
25| B 8:00 22.8 1.5 2.1
26| A| 8:42 23.5 1.4 1.1
27 x| 8:42 24.0 41 JA 9.0 <0.03 1.1 1.4 37.4
28| k| 8:40 23.8 1.6 1.0
29(A&<| 8:39 23.9 1.8 1.1
0(«| 8:38 23.8 1.7 1.0
1 — 26.2 41 82 9.0 <0.03 1.6 1.8 36.8
B = — 28.4 42 92 9.1 <0.03 1.8 12 37.4
=K — 22.8 39 11 8.8 <0.03 1.0 0.6 35.3
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SI4E10A
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
11| 8:00 23.7 1.5 0.9
28| 8:00 24.0 1.5 0.8
3|1 A 8:42 24.1 1.5 0.7
41k] 8:43 24.2 40 67 9.0 <0.03 1.5 0.7 35.9
5]sk| 8:45 23.8 1.5 1.6
6| A 8:39 22.5 1.5 1.5
7(#| 8:38 22.0 1.6 0.8
8|x| 8:00 21.6 1.5 1.4
91H 8:00 21.1 1.5 0.8
10| A| 8:00 21.3 1.4 0.7
11 k] 8:40 20. 6 40 64 8.9 <0.03 1.5 0.6 35.7
12| k| 8:40 20.6 1.6 0.8
13| K| 8:39 20. 3 1.5 0.9
14|#&]| 8:39 20.8 1.7 0.6
15| 8:00 21.0 1.5 0.6
16| 8] 8:00 21.3 1.6 0.6
171 A 8:42 21.5 1.5 0.7
18] x| 8:38 21.0 1.6 0.6
19]&] 8:38 19.9 1.6 0.8
200 K| 8:41 19.6 44 13 9.7 <0.03 1.6 1.1 39.0
21| &| 8:44 19.5 1.1 0.8
22(x| 8:00 19.8 1.7 0.7
23| B 8:00 20.0 1.6 0.7
24| A| 8:41 19.7 1.6 1.9
25 x| 8:40 19.0 40 68 9.0 <0.03 1.0 0.8 35.8
26| k| 8:41 18.3 1.6 0.8
27({A&<| 8:39 18.5 1.1 0.4
28(&| 8:39 18.2 1.7 0.4
29]£] 8:00 18.5 1.1 1.2
o({A| 8:00 17.7 1.7 1.4
31| A 8:40 17.4 1.6 1.3
1 — 20.7 41 68 9.2 <0.03 1.6 0.9 36. 6
B = — 24.2 44 13 9.7 <0.03 1.1 1.9 39.0
=K — 17.4 40 64 8.9 <0.03 1.0 0.4 35.7
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SI4AEIA
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1T]x| 8:39 18.1 41 67 9.2 <0.03 1.6 0.7 36. 2
2 | K[ 8:42 17.8 1.6 0.9
3|A&| 8:00 17.9 1.6 1.0
4 [&]| 8:40 18.1 1.6 0.8
5[xf 8:00 17.2 1.6 1.0
68| 8:00 16.7 1.6 1.0
118 8:44 16.8 1.6 0.8
8 | x| 8:39 16.9 38 61 9.0 <0.03 1.6 0.7 34.3
9|sk| 8:38 16.6 1.6 0.9
10| A& 8:37 16.5 1.7 0.7
1M|&| 8:38 16.7 1.6 0.7
12| £] 8:00 16.7 1.7 0.8
13| 8 8:00 17.1 1.6 0.9
1418 8:39 17.0 1.6 3.8
15 k] 8:39 16.0 40 63 9.6 <0.03 1.5 1.5 36.3
16| k| 8:37 16. 1 1.6 1.1
17| K| 8:42 15.1 1.6 0.9
18|&| 8:41 15.3 1.7 0.9
19| 8:00 15.2 1.6 0.9
2008 8:00 15.8 1.7 0.7
21| A 8:39 16. 2 1.5 0.6
22| k| 8:39 16. 1 1.6 0.5
23| 8:00 16.0 1.6 0.6
24| K| 8:39 16.0 39 67 9.0 <0.03 1.5 0.5 34.3
25|&| 8:47 15.2 1.5 1.0
26| 8:00 15.7 1.6 0.7
21| B 8:00 15.7 1.5 0.9
28| A| 8:42 14.9 1.6 0.9
29 x| 8:38 16. 2 39 66 9.1 <0.03 1.6 0.6 34.5
30[sk| 8:38 16. 2 1.6 0.9
1 — 16. 4 39 65 9.2 <0.03 1.6 0.9 35. 1
B = — 18. 1 41 67 9.6 <0.03 1.1 3.8 36. 3
=K — 14.9 38 61 9.0 <0.03 0.5 34.3
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SI4E12A
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
T|A[ 8:39 14. 4 1.5 2.1
2|&]| 8:39 13.7 1.6 1.3
3[x| 8:00 12.5 1.6 1.1
48| 8:00 12.9 1.6 0.7
5| A 8:41 13.3 1.6 0.7
6| x| 8:45 13.3 41 10 9.3 <0.03 1.6 0.6 36. 6
715k 8:38 12.6 1.6 0.9
8| A 8:40 12. 4 1.6 0.9
9[#| 8:38 12. 4 1.6 0.8
10| ] 8:00 11.9 1.7 0.8
1] 8 8:00 12.7 1.1 0.7
12|A| 8:39 12.3 1.6 1.5
13| k] 8:37 12. 4 38 68 9.1 <0.03 1.1 0.7 35.1
14] k| 8:38 1.7 1.6 1.1
15| K| 8:37 10.0 1.1 2.4
16|&| 8:42 10.3 1.7 1.3
17| 8:00 10.0 1.1 1.2
18| 8] 8:00 9.1 1.6 3.7
191 A 8:41 8.4 1.1 2.5
20 k| 8:39 8.2 40 67 9.4 0.14 1.7 1.9 36.0
21 k| 8:43 8.8 1.1 1.3
22| K| 8:41 9.8 1.7 0.8
23|%&| 8:46 8.1 1.6 1.1
24| 8:00 6.5 1.7 3.8
25| B 8:00 1.8 1.1 2.2
26 A| 8:45 1.8 1.7 2.3
27 x| 8:42 1.8 42 69 1 <0.03 1.6 2.4 31.2
28| k| 8:40 1.8 1.6 1.6
29({A&| 8:00 8.1 1.1 1.0
(& 8:00 8.0 1.6 1.6
31|+ 8:00 8.1 1.1 1.2
1 — 10. 4 40 69 9.7 0.04 1.6 1.5 36.2
B = — 14.4 42 10 11 0.14 1.1 3.8 37.2
=K — 6.5 38 67 9.1 <0.03 1.5 0.6 35. 1
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SFI541 A
& oK w3 ES % w7
Kk & B pHIE B &
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
118 8:00 8.3 1.6 1.1
2| A 8:00 8.2 1.6 1.0
3|k 8:00 1.8 1.6 1.0
41k| 8:44 1.8 40 62 9.3 <0.03 1.7 0.9 35.8
5]K] 8:39 1.6 1.6 0.9
6|« 8:37 8.0 1.6 0.9
7[(xf 8:00 1.2 1.6 0.9
88| 8:00 8.2 1.6 1.1
91R 8:00 1.1 1.5 0.9
10] k| 8:45 1.9 40 66 10 <0.03 1.6 2.0 35.6
1)xKk| 84 1.3 1.6 1.6
12| K| 8:42 1.3 1.6 1.1
13| €| 8:38 1.8 1.6 1.0
141 £] 8:00 9.1 1.5 1.0
15| A 8:00 9.5 1.5 0.9
16| A 8:39 9.4 1.5 1.0
17 k] 8:38 8.6 42 63 9.6 <0.03 1.6 1.1 37.4
18] k| 8:38 1.9 1.6 1.5
19| K| 8:38 8.1 1.5 1.1
20(&| 8:37 1.1 1.6 1.2
211 £] 8:00 1.5 1.6 2.6
22(8| 8:00 1.0 1.6 2.6
23| A 8:50 1.9 1.6 1.9
24| k| 8:42 8.2 40 63 9.3 <0.03 1.6 1.3 35.3
25(k| 9:33 4.7 1.1 12
26| K| 8:55 4.7 1.6 4.4
27|%&| 8:55 5.5 1.6 3.1
28| 8:00 5.0 1.6 3.1
29| H 8:00 5.3 1.6 2.4
0| A| 8:44 5.4 1.6 1.8
3] 9:33 5.9 1.6 1.7
1 — 1.4 41 64 9.6 <0.03 1.6 1.9 36. 1
B = — 9.5 42 66 10 <0.03 1.1 12 37.4
=K — 4.7 40 62 9.3 <0.03 1.5 0.9 35.3
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SFI5%2A
& oK w3 ES % w7
Kk & B pHIE B E
o R e & UK
Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1]K[ 8:43 5.2 43 10 10 <0.03 1.6 1.1 38.5
2| K[ 8:46 6.2 1.6 2.1
3[&| 8:40 5.8 1.6 1.6
4[] 8:00 5.4 1.5 1.5
5|H 8:00 6.6 1.6 1.3
6| A 8:40 6.4 1.4 1.2
Tk 8:43 1.6 1.5 1.2
8 |/K([ 8:38 1.8 1.5 1.2
9| K| 8:39 1.5 1.5 1.3
10|&]| 8:39 1.0 1.6 2.3
11| 8:00 1.6 1.6 2.8
12| 8] 8:00 1.4 1.6 2.0
131 A 8:40 8.1 1.6 1.8
14 x| 8:40 1.6 42 10 9.9 <0.03 1.5 2.6 36.8
15] k]| 8:37 6.0 1.4 2.8
16| A< 8:38 6.2 1.5 2.6
17(&| 8:41 6.3 1.5 2.2
18| £]| 8:00 6.8 1.5 2.2
19|18 8:00 1.1 1.5 1.1
200 A| 8:42 1.6 1.3 1.2
21 | 8:41 6.4 40 66 9.8 <0.03 1.5 1.9 35.8
22| k| 8:39 6.4 1.5 2.5
23 A&<| 8:00 6.3 1.5 5.2
24(&| 8:40 1.3 1.4 4.3
251 £] 8:00 1.1 1.4 4.6
26(a| 8:00 6.3 1.5 4.4
21| A 8:41 1.1 1.5 2.1
28| k| 8:42 1.2 40 " 9.5 0.07 1.5 2.5 36.9
1 — 6.8 41 69 9.8 <0.03 3 37.0
B = — 8.7 43 11 10 0.07 .2 38.5
=K — 5.2 40 66 9.5 <0.03 1.2 35.8
ECI




KEMFREERIR KERES)

EWRFKE (TEAK) SH5E3A

& oK w3 ES % w7
Kk & B pHIE B E

o R e & UK

Bl@El F: 59 °C mg/L mg/L mg/L mg/L E mg/L
1T]K[ 8:41 8.0 1.5 2.0
2| K[ 84 8.7 1.5 1.8
3[&| 8:40 8.4 1.6 2.4
4[] 8:00 1.6 1.5 2.5
5|H 8:00 8.0 1.1 2.5
6| A 8:40 8.3 1.6 2.2

7|k 8:52 8.4 39 65 9.4 <0.03 1.6 2.2 34.9
8| K[ 8:41 8.7 1.5 2.1
9| k| 8:38 9.3 1.5 2.0
10|&| 8:42 10. 8 1.5 1.8
11| 8:00 9.3 1.6 2.1
12| 8] 8:00 10.0 1.4 2.0
131 A 8:42 10.7 1.2 1.6

141 x| 8:41 10.0 40 66 9.5 <0.03 1.5 2.0 36.2
15] k] 8:39 9.7 1.6 1.6
16| &< 8:42 10.2 1.5 1.5
17|&| 8:42 1.1 1.6 1.2
18| £]| 8:00 10.7 1.7 1.1
19|18 8:00 10.5 1.6 1.1
200 A 8:39 10.5 1.6 1.1
21 x| 8:00 10.7 1.6 1.3

22| k| 8:00 10.7 39 68 9.4 <0.03 1.5 1.3 35.4
23 A&<| 8:43 11.5 1.3 1.1
24(&| 8:39 11.8 1.5 0.8
251 £] 8:00 11.9 1.1 1.0
26(a| 8:00 1.7 1.7 0.9
21| A 8:41 12.0 1.1 1.1

28| k| 8:39 11.6 42 10 9.8 <0.03 1.7 1.2 38.0
29 k| 8:39 1.7 1.1 1.4
30[A| 8:35 11.8 1.7 1.3
31| 8:40 11.6 1.4 1.0

1 — 10. 2 40 67 9.5 <0.03 1.6 1.6 36. 1

B = — 12.0 42 10 9.8 <0.03 1.1 2.5 38.0

=K — 1.6 39 65 9.4 <0.03 1.2 0.8 34.9
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